BREBAT/VARNTY 1 =yk

LIGHT STAINLESS BEARING UNITS

Eo—-#1=vhk(SUPH)

PILLOW UNITS (SUP)

WREET R

Standard Specification

H2

} %  ® | SUS440CUR%)
T } } } } H — Bearing (Quite)
H1 | B ¥ # | SCSI13(iEY)

‘ Housing (Quite)
i B H15RsERmAT—X
Lubricant H1 Certificated Grease For Food

[

o —
RoHI7—547
ECCENTRIC COLOR TYPE
FE~E(mm) B | gymgs | mm | E=m

d=wyhBIE :
Main Dimensions (mm) g}ﬂ'; BIE BiE (ke)

Unit . . Weight
Number Bolt Housing | Bearing Ke)

Size | Number | Number
Reference

10 SUPO000 18 67 16 53 7 6 35 | 175 4 M6 | SPOOO | SUOOC| 0.09
12 SUPOO1 19 71 16 56 7 6 38 | 175 4 M6 |SPOOT|SUOO0T| 0.10
15 SUP002 22 80 16 63 7 7 43 | 185 | 45 M6 | SPO02 | Su002| 0.13
17 SUP003 24 85 18 67 7 7 47 | 205 5 M6 | SPO0O3|SUO03| 0.16
20 SUP004 28 100 | 20 80 10 9 55 | 245 6 M8 |SP0O04|SuU004| 0.27

¥ FERBIBEDINNDRIEAIRE T T . BREBICBELEHDELEE L,
¥ We can produce another bearing number, please feel free to contact us.




VL7598 a1=y M (SUFL)

RHOMBUS FLANGED UNITS (SUFL)

BOHF—4547

ECCENTRIC COLOR TYPE

N

N\

A2

=

— A —

Q
)

N

WL

Standard Specification

SUS440C (1Bx)
(Quite)

SCS13(#E=)

L]

Bearing
B =
Housing

i

=

o

bzl

ic

Lubricant

(Quite)

H1EERRATU—X

H1 Certificated Grease For Food

WE | e EBLE(Mm) H_ny}'l{': wEE | WS | =B

Shaft Main Dimensions (mm) 941- BUEE BUE ()]
Dia Unit . . Weight

Number Bolt Housing | Bearing Ke)
(mm) Size | Number | Number
Reference

10 SUFLOOO0 | 60 | 36 |115| 45 7 55 | 65 19 | 175 M6 | SFLOOO| SUOQO | 0.08
12 SUFLOO1 63 38 | 11.5| 48 7 BB | BE 19 | 175 M6 | SFLOO1| SUOOT | 0.10
15 SUFL002 67 42 13 53 7 65 | 685 |205]|185] 45 M6 | SFLOO2| Su002 | 0.11
17 SUFLO03 | 71 46 14 56 7 225|205 M6 |SFLOO3| SUOD3 | 0.14
20 SUFL004 | 90 | 55 16 71 10 265 |245| 6 M8 | SFLO04| SU004 | 0.25

x FERRIELSNDRISEAIREC T . BR[BICHBBLIEDELEE L,
¥We can produce another bearing number, please feel free to contact us.




BREBAT/VARNTY 1 =yk

LIGHT STAINLESS BEARING UNITS

EOo—#1=v b (SKP#)

PILLOW UNITS (SKP)

N
‘ \ WS
HD Standard Specification
} 8 = | SUS440CHE%)
f ; ; . ; ‘ H Bearing (Quite)
H1 e L | B = % | SCS13(HE%)
Housing (Quite)
i B H15REERmAT U —X
J Lubricant H1 Certificated Grease For Food
L A

IEHRUELT

SET SCREW TYPE

s FB % (mm) B | gymes | wm | =2

Main Dimensions (mm) g}ﬂ'; BIE BiE (ke)

Unit . . Weight
Number Bolt Housing | Bearing Ke)

Size | Number | Number
Reference

10 SKP00O 18 67 16 53 7 6 35 14 4 M6 | SPOOO | SKOOO| 0.08
12 SKPOO1 19 71 16 56 7 6 38 | 145 4 M6 |SPOOT|SKOOT| 0.10
15 SKP002 22 80 16 63 7 7 43 | 165 | 45 M6 | SPO02 | SKOO2 | 0.13
17 SKP003 24 85 18 67 7 7 47 | 175 5 M6 | SPO03 | SKO0O3| 0.15
20 SKP004 28 100 | 20 80 10 9 55 21 6 M8 |SP004 | SK004| 0.25

¥ FERBIBEDINNDRIEAIRE T T . BREBICBELEHDELEE L,
¥ We can produce another bearing number, please feel free to contact us.




VL7529 1=y M (SKFL#¥)

RHOMBUS FLANGED UNITS (SKFL)

N
N
N
//H\\\ Wiz
J H Standard Specification
L g | SUS440C(HE)
Bearing (Quite)
] SCS13(#H%)
e Housing (Quite)
i b=l H18RsERmATU—X
Lubricant H1 Certificated Grease For Food
L

IEHRUELT

SET SCREW TYPE

= whEIE . SZHE Z =
Shaft Main Dimensions (mm) g}i}'; RUZ BUEE ()]

Dia Unit . . Weight
Number Bolt Housing | Bearing Ke)
(mm) Size | Number | Number

Reference

10 SKFLOOO | 60 | 36 |11.5| 45 7 55 | 65 | 1565| 14 4 M6 | SFLOOO| SKOOO | 0.07
12 SKFLOO1 63 | 38 |115| 48 7 55| 65| 16 |145] 4 M6 | SFLOO1| SKOOT1 | O.10
15 SKFL002 | 67 | 42 13 | B3 7 65 | 65 |185|165| 45 M6 | SFLOO2| SK002 | 0.11
17 SKFLO03 | 71 46 14 | b6 7 195(175| 5 M6 | SFLOO3| SKOO3 | 0.13
20 SKFLO04 | 90 | 55 16 | 71 10 23 | 21 6 M8 | SFLOO4 | SK004 | 0.23

x FERRIELSNDRISEAIREC T . BR[BICHBBLIEDELEE L,
¥We can produce another bearing number, please feel free to contact us.




1Y —bihs

INSERT BEARINGS

JL i WIE£ELER
r Standard Specification
d — D W ¥ U C #|Sulle(dE

SSUCH? | SUS440C (#8x)
(Quite)

M B8 UC | UFILRIU-XR

Lubricant Lithium Greases
SSUCH: | H158sERmATU—X
47314.1.73 H1 Certificated Grease For Food
R

A7V 1=y MR (UCH)
BEARING UNITS (UC)

Bearing (Quite)

o EZE(mm) BAERBEE {%éi}

Main Dimensions (mm) Basic Load Rating

Weight
(Kg)
Reference

Number

17 Uc203 17 | 47 | 31 17 1.01127]183| 5 |M6X0.75| 37| 12800 | 6600 | 0.18
20 uc204 20 | 47 | 31 17 1.0]1127]1183| 5 |MBxX0.75| 3.7 | 12800 | 6600 | 0.16
25 UcC205 25 | 52 [ 34.1| 17 151143198 5 |MBX0.75| 39| 14000 | 7800 | 0.19
30 UC206 30 | 62 |38.1| 19 151159222 5 |M6X0.75| 50| 19500 | 11200 | 0.31
35 uc207 35 | 72 |429| 20 | 20| 175|254 | 6.5 M8X1 57| 25700 | 15200 | 0.46
40 uc208 40 | 80 [ 492 21 20| 19 |302| 8 M8X1 6.2 | 29600 | 18200 | 0.63
45 Uc209 45 | 85 | 492| 22 | 20| 19 |302| 8 M8X1 6.4 | 31800 | 20800 | 0.68
50 uc210 50 | 90 |[516| 24 | 20| 19 |326] 10 M10OX1.25 65| 35100 | 23200 | 0.78

AT LAANTY) 9 12y MH (SSUCH)
STAINLESS BEARING UNITS (SSUC)

EEE(mm) BAXEREE =8
Main Dimensions (mm) Basic Load Rating ()
Weight
(Kg)
Reference

BE

Number

17 SSUC203 | 17 | 47 31 17 1.5]1125|185] 5 MEX1 40| 12700 | 6600 | 0.17
20 SSUC204 | 20 | 47 31 17 1.5]1125|185| 5 M6BX1 40 | 12700 | 6600 | 0.15
25 SSUC205 | 25 | 52 | 34.1| 17 1.5]1143|198| 5 M6BX1 4.0 | 14000 | 7900 | 0.19
30 SSUC206 | 30 | 62 | 38.1| 19 1.5]11569|222| 5 MBX1 52 | 19800 | 11300 | 0.30
35 SSUC207 | 35 | 72 [429| 20 151175254 7 M8X1 55 | 26600 | 15200 | 044
40 SSUC208 | 40 | 80 |492]| 21 16| 19 |302| 8 M8X1 6.2 | 29400 | 18000 | 0.59
45 SSUC209 | 45 | 85 | 492 22 16 19 |302| 8 M8X1 6.4 | 31600 | 20600 | 0.65
50 SSUC210 | 50 | 90 |516]| 24 16| 19 |326] 10 [IM10x1.25| 6.5 | 35000 | 23200 | 0.73

Cr=EAXEEESI7IEE Cor=EXEEESI7IEE

Cr=Basic Motion Rating Radial Load Cor=Basic Static Rating Radial Load
¥ FEERIBLNBRETRECT . BRBRICBELEDELEE L,

*%We can produce another bearing number, please feel free to contact us.



! Wi

N2 Standard Specification

W= u 2 | SUJ2 (FH)

d1 R B‘ d D Bearing (Quite)

S U 2 | SUS440C(1E=)
(Quite)

H B U | UFOLRIU—R
Lubricant Lithium Greases
S U F |HIREBRAIU—X

H1 Certificated Grease For Food

B1

BEEATV 1=y A RiH5—217) (U)
LIGHT BEARING UNITS (ECCENTRIC COLOR TYPE) (U)

FZ=iE(mm) BAEREE 5=

Main Dimensions (mm) Basic Load Rating (kg)
Weight
(&)
Reference

10 uooo 10 | 26 |175]| 11 8 07| 4 17 | 85 | M4x0.7 | 3.3 | 4600 1960 | 0.03
12 uoo1 12 | 28 |175| 11 8 07| 4 19 | 85 | M4x0.7 | 3.3 | 5580 2840 | 0.03
15 U002 156 | 32 |185] 12 9 07| 45| 22 | 85 | M4x0.7 | 3.3 | 5580 2840 | 0.04
17 Uoo3 17 | 35 |205|135| 10 | 0.8 5 25 | 95 | M4x0.7 | 3.3 | 5970 3280 | 0.06
20 Uoo4 | 20 | 42 |245|1685| 12 | 1.3 6 30 | 11 M5x0.8 | 4.2 | 93560 5040 0.1

B

Number

BEWBATVLAARTY 1=y M (RidHS5—4817) (SUF)
STAINLESS LIGHT BEARING UNITS (ECCENTRIC COLOR TYPE) (SU)

FETE(MM) HAEREE | =8

Main Dimensions (mm) Basic Load Ratins (kg)

RUFE
Weight

(Kg)
Reference

10 SUO00 | 10 | 26 |17.5] 11 8 0.7 4 17 | 85 | M4x0.7 | 3.3 | 4600 1960 | 0.03
12 SU001 | 12 | 28 |175] 11 8 0.7 4 19 | 85 | M4x0.7 | 3.3 | 5580 2840 | 0.03
15 SU002 | 15 | 32 |185] 12 9 07|45 | 22 | 85 | M4x0.7 | 3.3 | 5580 2840 | 0.04
17 SU003 | 17 | 35 |205|135| 10 | 0.8 5 25 | 95 | M4x0.7 | 3.3 | 5970 3280 | 0.06

20 SU004 | 20 | 42 |245|165] 12 | 1.3 6 30 | 11 M5X0.8 | 4.2 | 93560 5040 0.1

Cr=BEAXEEESI7IVEE Cor=EXrEERSI7ILEE FRFEER

Cr=Basic Motion Rating Radial Load Cor=Basic Static Rating Radial Load *QOrder Production
x EERRIELSNNDEISTIREC T . BRBICHBBLIEDELEE L,

¥ We can produce another bearing number, please feel free to contact us.

Number




